¥ l\ ——
8 110 £ F >2RBERFLR L ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
1 INS: $EESE BRESZ(BEO) 9 5 NS: B STRIV(EC) -24 VP:| 17.51 2.49 | Total VP: 80.40 Rank:
EW: 2308 SIBFEEAC) 26 EW: EABIE k= (BHO) -9 IMP:| 31 : 3 5
# 1 » Q6 2DN4 130 Mean: 3DN4 130 10 1 |[# 12 Py 5SXW-3 500 Mean: 6CXNG6 1540 13.0 1
v 864 1NN2120 110  2DN4 130 1.0 1 v 76 5SXW-3 500 730 6DS6 1370 120 1
+ A875 Dif: 10 Ns:1 A 00 2 ¢ T9876 Dif: 0 NS:-6 6CN6 1370 120 1
& AQ98 IMP: 0 EW:0 3HW-2 100 00 1 & AKT863 IMP: 0 EW:6 A 00 2
# 83 # T9542 3HE-2 100 00 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 00 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 ¢ KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1  -200 -14.0 1
& KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢ VAN oAKI7 1NS1 90 1.0 2 FOVAN A K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-2 -200 Mean: 4SN4 620 110 3 ||# 14 » 85 2SS-2 -100 Mean: 2HXN4 670 120 1
v T532 4SN-1-100 80  3SN4 170 3.0 1 v AQT42 1NE1-90 20  3HS3 140 30 1
. Dif: -100 NS:-7 A 00 2 +» KQ973 Dif: -10 NS:-3 2HN3 140 30 1
& AT2 IMP: -3 EW:5 4SN-1 100 5.0 3 a3 IMP: 0 EW:3 3CE-1 50 10 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2  -500 -11.0 1 [|e J v K753 4HXN-1 100 3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FeVAN Q5 % ¢V AN 4 AKTO 1NE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~ 1~~~ W 2~~1-~
# 15 a AJ 3CW-150 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SS3 140 Mean: 3DW-3 300 5.0 1
v K7 5DXN-1-200 -190  3CW-1 50 60 1 v AT 2SN-1-50 110  3DE-2 200 30 1
» AQJT92 Dif: 250 NS:6 3HW3 140 20 1 ¢ J73 Dif: 190 NS:1  3SS3 140 1.0 1
& J65 IMP: 6 EW:0 3CW4 130 20 1 » K874 IMP: 5 EW:4 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 10 1
. ¢ K64 5DXN-1  -200 0.0 1 ||e QT52 + AK96 A 00 2
» AKT84 & Q932 5CW5 400 50 1 ||a3 & QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5  -550 -8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ ¢JT6 4HXW4 590 90 1 [IN 1 ~~21 « KJ8B6
S ~4~1~ 48753 S 1~~21 ¢84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 6SE6 -980 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN4 620 Mean: 4HN5 650 7.0 1
v Q874 6SXE6 -1210 -700 A 00 2 v AKT 4HN4 620 350  4HN4 620 7.0 3
¢ J32 Dif: 230 NS:-7 6SE6 980 7.0 3 + AQ2 Dif: 0 NS:7 3NS3 600 60 1
& 765 IMP: 6 EW:11 6SXE6 4210 110 1 » K6 IMP: 0 EW:-7 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | vb6 1SN2 10 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 4SN4 420 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 3NW-4 400 Mean: 3NW-4 400 120 1
¢ T8 4SN4 420 240  4SN4 420 50 3 v 5432 3NW4 -630 -240  3NW-1 100 80 1
o A94 Dif:0 NS:5 A 00 2 ¢ Q4 Dif: 1030 Ns:12 3DW3 10 40 1
& K53 IMP: 0 EW:-5 3HXE-1 200 1.0 1 » K92 IMP: 14 EW:9 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KIT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 20 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 F ¢V BN 4652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~14




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
2 INS: BESZE B3 H (BFO) -19 3 NS: B{E3 FER(BAC) 2 | VP:| 6.28 13.72| Total VP: 79.68 Rank:
EW: Bi=% 8222 (FHC) -2 EW: 3%k Z#EI5(F0) 1 IMP:| 28 39 7
# 1 » Q6 1NS2 120 Mean: 3DN4 130 10 1 |[# 12 Py 5CN6 620 Mean: 6CXN6 1540 13.0 1
v 864 3DN4 130 110  2DN4 130 1.0 1 v 76 6CXN-1-200 730 6DS6 1370 120 1
+ A875 Dif: -10 NS:0 A 00 2 ¢ T9876 Dif: 820 NS:-3 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-1 3HW-2 100 0.0 1 & AKT863 IMP: 13 EW:14 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-2 -200 Mean: 4SN4 620 110 3 ||# 14 » 85 4HXN-2 -300 Mean: 2HXN4 670 120 1
v T532 4SN4 620 80  3SN4 170 3.0 1 v AQT42 4HXN-1-100 20  3HS3 140 30 1
. Dif: -820 NS:-7 A 00 2 +» KQ973 Dif: 200 NS:-8 2HN3 140 30 1
& AT2 IMP: -13 EW:-11 4SN-1 100 5.0 3 a3 IMP: -5 EW:3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 5CW5 -400 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SN3 140 Mean: 3DW-3 300 50 1
v K7 4CW5 -150 190  3CW-1 50 60 1 v AT 3DE-2200 110  3DE-2 200 30 1
» AQJT92 Dif: -250 NS:-5 3HW3 140 20 1 ¢ J73 Dif: -60 NS:1  3SS3 140 1.0 1
& J65 IMP: -6 EW:-1 3CW4 130 20 1 » K874 IMP: -2 EW:-3 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 » Q932 5CW5 400 50 1 ||a3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 -480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN-1 -100 Mean: 4HN5 650 7.0 1
v Q874 4SE6 -480 -700 A 00 2 v AKT 4HN5 650 350  4HN4 620 7.0 3
¢ J32 Dif: 0 NS:6 6SE6 980 7.0 3 + AQ2 Dif: -750 NS:-10 3NS3 600 6.0 1
& T65 IMP: 0 EW:-6 6SXE6 41210 110 1 » K6 IMP: -13 EW:-7 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | vb6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 4SN4 420 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 2NW4 -180 Mean: 3NW-4 400 120 1
¢ T8 3SN4 170 240  4SN4 420 50 3 v 5432 3NW3 -600 -240  3NW-1 100 80 1
o A94 Dif: 250 NS:5 A 00 2 * Q4 Dif: 420 Ns:2 3DW3 110 40 1
& K53 IMP: 6 EW:2 3HXE-1 200 1.0 1 » K92 IMP: 9 EW:8 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
3 NS: 3L FEBEAC) 2 2 NS: REE 185 (F0) 194 VP:| 13.72 : 6.28 Total VP: 107.35 Rank:
EW: 23K ZBREEEHO) 19 EW: 85/ &RZ(FAC) -2 IMP:| 39 28 1
# 1 » Q6 1NS2 -120 Mean: 3DN4 130 10 1 |[# 12 Py 5CN6 -620 Mean: 6CXN6 1540 13.0 1
v 864 3DN4 -130 110  2DN4 130 1.0 1 v 76 6CXN-1200 730 6DS6 1370 120 1
+ A875 Dif: 10 Ns:1 A 00 2 ¢ T9876 Dif: -820 NS:-14 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-0 3HW-2 100 0.0 1 & AKT863 IMP: -13 EW:3 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-2200 Mean: 4SN4 620 110 3 ||# 14 » 85 4HXN-2 300 Mean: 2HXN4 670 120 1
v T532 4SN4 -620 80 3SN4 170 3.0 1 v AQT42 4HXN-1100 20 3HS3 140 30 1
. Dif: 820 NS:11 A 00 2 +» KQ973 Dif: 200 NS:-3 2HN3 140 30 1
& AT2 IMP: 13 EW:7 4SN-1 100 5.0 3 a3 IMP: 5 EW:8 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 1.0 1 [|eJ v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 5CW5 400 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SN3 -140 Mean: 3DW-3 300 5.0 1
v K7 4CW5 150 -190  3CW-1 50 60 1 v AT 3DE-2-200 110  3DE-2 200 30 1
» AQJT92 Dif: 250 NS:1  3HW3 140 20 1 ¢ J73 Dif: 60 Ns:3 3SS3 140 1.0 1
& J65 IMP: 6 EW:5 3CW4 130 20 1 » K874 IMP: 2 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 & Q932 5CW5 400 50 1 || 3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN-1 100 Mean: 4HN5 650 7.0 1
v Q874 4SE6 480 -700 A 00 2 v AKT 4HN5 -650 350  4HN4 620 7.0 3
¢ J32 Dif: 0 NS:6 6SE6 980 7.0 3 » AQ2 Dif: 750 NS:7 3NS3 600 6.0 1
& T65 IMP: 0 EW:-6 6SXE6 41210 110 1 » K6 IMP: 13 EW:10 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 4SN4 -420 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 2NW4 180 Mean: 3NW-4 400 120 1
¢ T8 3SN4 -170 240  4SN4 420 50 3 v 5432 3NW3 600 -240  3NW-1 100 80 1
o A94 Dif: -250 NS:-2 A 00 2 * Q4 Dif: -420 NS:-8 3DW3 110 40 1
& K53 IMP: -6 EW:-5 3HXE-1 200 1.0 1 » K92 IMP: -9 EW:-2 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 110 £ F >2RBERFLR L ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
4 INS: FREAE £ FH 5 (EHO) 4 6 NS: 3B BIRE5(BAC) 31 VP:| 2.49 17.51| Total VP: 75.91 Rank:
EW: R B EHAC) -31 EW: fA5RE) #iER(FH0) 4 IMP:| 15 43 8
# 1 » Q6 2NN2 120 Mean: 3DN4 130 10 1 |[# 12 Py 6CN6 1370 Mean: 6CXN6 1540 13.0 1
v 864 1NS2120 110 2DN4 130 1.0 1 v 76 6DS6 1370 730  6DS6 1370 120 1
+ A875 Dif:0 NS:0 A 00 2 + T9876 Dif: 0 NS:12 6CN6 1370 120 1
& AQ98 IMP: 0 EW:0 3HW-2 100 00 1 & AKT863 IMP: 0 EW:-12 A 00 2
# 83 # T9542 3HE-2 100 00 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 00 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 ¢ KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1  -200 -14.0 1
& KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢ VAN oAKI7 1NS1 0 1.0 2 FOVAN A K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-1-100 Mean: 4SN4 620 110 3 ||# 14 » 85 2NS-2 -100 Mean: 2HXN4 670 120 1
v T532 3SN4170 80  3SN4 170 3.0 1 v AQT42 2HXN4 670 20  3HS3 140 30 1
. Dif: -270 NS:-5 A 00 2 +» KQ973 Dif: -770 NS:-3 2HN3 140 30 1
& AT2 IMP: -7 EW:-3 4SN-1 100 5.0 3 a3 IMP: -13 EW:-12 3CE-1 50 10 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2  -500 -11.0 1 [|e J v K753 4HXN-1 <100 3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FeVAN Q5 % ¢V AN 4 AKTO 1NE1 9 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 aAJ 5CXWS5 -550 Mean: 5CXW-1 100 7.0 2 ||# 16 » Q982 3SN3 140 Mean: 3DW-3 300 50 1
v K7 5CXW-1100 -190  3CW-1 50 60 1 v AT 2SS3140 110  3DE-2 200 30 1
‘AQJT92 Dif: -650 NS:-8 3HW3 140 20 1 ¢ J73 Dif: 0 NS:1  3SS3 140 10 1
& J65 IMP: -12 EW:-7 3CW4 130 20 1 » K874 IMP: 0 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 0.0 2 ||v Q9532 —_— v 74 2SN3 140 10 1
. ¢ K64 5DXN-1  -200 0.0 1 ||e QT52 + AK96 A 00 2
» AKT84 » Q932 5CW5 400 50 1 ||a3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5  -550 -8.0 1 % ¢ VBN 4, K765 3DW3 110 6.0 1
N ~4~1~ ¢JT6 4HXW4 590 90 1 [IN 1 ~~21 « KJ8B6
S ~4~1~ 48753 S 1~~21 ¢84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 -480 Mean: 4SE6 480 60 6 |[|# 18 » KJ754 1SN2 110 Mean: 4HN5 650 7.0 1
v Q874 6SE6 -980 -700 A 00 2 v AKT 3NS3 600 350 4HN4 620 7.0 3
¢ J32 Dif: 500 NS:6 6SE6 980 7.0 3 + AQ2 Dif: -490 NS:-6 3NS3 600 60 1
& 765 IMP: 11 EW:7 6SXE6 4210 110 1 » K6 IMP: -10 EW:-6 3NN3 600 60 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | vb6 1SN2 10 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3DS3 110 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 3DW4 -130 Mean: 3NW-4 400 120 1
v T8 4SN-1-50 240  4SN4 420 50 3 v 5432 3DW3 -110 -240  3NW-1 100 80 1
» A94 Dif: 160 NS:-4 A 00 2 * Q4 Dif: -20 NS:3  3DW3 110 40 1
& K53 IMP: 4 EW:7 3HXE-1 200 1.0 1 » K92 IMP: -1 EW:-4 3DW4 4130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KIT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 20 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 & Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 F ¢V BN 4652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~14




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
5 INS: BE#ES: STRINEAC) 26 1 NS: #5E25 REISZ(BHO) 9 | VP:| 2.49 17.51| Total VP: 48.58 Rank:
EW: BERIE Wisk=(H0) -9 EW: &30& SEUR(BAC) 2 IMP:| 3 3 10
# 1 » Q6 2DN4 -130 Mean: 3DN4 130 10 1 |[# 12 Py 5SXW-3 -500 Mean: 6CXN6 1540 13.0 1
v 864 1NN2 -120 110  2DN4 130 1.0 1 v 76 5SXW-3 -500 730 6DS6 1370 120 1
+ A875 Dif: -10 NS:-0 A 00 2 ¢ T9876 Dif: 0 NS:-6 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-1 3HW-2 100 0.0 1 & AKT863 IMP: 0 EW:6 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-2200 Mean: 4SN4 620 110 3 ||# 14 » 85 2SS-2 100 Mean: 2HXN4 670 120 1
v T532 4SN-1100 80  3SN4 170 3.0 1 v AQT42 INE190 20  3HS3 140 30 1
. Dif: 100 NS:-5 A 00 2 +» KQ973 Dif: 10 NS:-3 2HN3 140 30 1
& AT2 IMP: 3 EW:7 4SN-1 100 5.0 3 a3 IMP: 0 EW:3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 3CW-1-50 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SS3 -140 Mean: 3DW-3 300 5.0 1
v K7 5DXN-1200 -190 3CW-1 50 60 1 v AT 2SN-150 110  3DE-2 200 30 1
» AQJT92 Dif: -250 NS:-0 3HW3 140 20 1 ¢ J73 Dif: -190 Ns:-4 3SS3 140 1.0 1
& J65 IMP: -6 EW:-6 3CW4 130 20 1 » K874 IMP: -5 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 a Q932 5CW5 400 50 1 || 3 & QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 6SE6 980 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN4 -620 Mean: 4HN5 650 7.0 1
v Q874 6SXE6 1210 -700 A 00 2 v AKT 4HN4 -620 350  4HN4 620 7.0 3
¢ J32 Dif: -230 NS:-11 6SE6 980 7.0 3 » AQ2 Dif: 0 NS:7 3NS3 600 6.0 1
& T65 IMP: -6 EW:7 6SXE6 41210 110 1 » K6 IMP: 0 EW:-7 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 4SN4 -420 Mean: 4SN5 450 50 1 ||# 20 » AQ83 3NW-4 -400 Mean: 3NW-4 400 120 1
¢ T8 4SN4 -420 240  4SN4 420 50 3 v 5432 3NW4 630 -240  3NW-1 100 80 1
o A94 Dif:0 NS:5 A 00 2 ¢ Q4 Dif: 1030 NS:-9 3DW3 110 40 1
& K53 IMP: 0 EW:-5 3HXE-1 200 1.0 1 » K92 IMP: -14 EW:-12 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
6 INS: B BiFEaR(EAC) 31 4 NS: RETE 2L E(BAO) -4 VP:| 17.51 2.49 | Total VP: 99.72 Rank:
EW: {o528) &5 E3(5E0) 4 EW: R{_5 BII#(FC) -3 IMP:| 43 15 2
# 1 » Q6 2NN2 -120 Mean: 3DN4 130 10 1 |[# 12 Py 6CN6 -1370 Mean: 6CXN6 1540 13.0 1
v 864 1NS2 -120 110 2DN4 130 1.0 1 v 76 6DS6 -1370 730  6DS6 1370 120 1
+ A875 Dif: 0 NS:-0 A 00 2 ¢ T9876 Dif: 0 NS:12 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-0 3HW-2 100 0.0 1 & AKT863 IMP: 0 EW:-12 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-1100 Mean: 4SN4 620 110 3 ||# 14 » 85 2NS-2 100 Mean: 2HXN4 670 120 1
v T532 3SN4-170 80  3SN4 170 3.0 1 v AQT42 2HXN4 -670 20  3HS3 140 30 1
. Dif: 270 NS:3 A 00 2 +» KQ973 Dif: 770 NS:12 2HN3 140 30 1
& AT2 IMP: 7 EW:5 4SN-1 100 5.0 3 a3 IMP: 13 EW:3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 aAJ 5CXW5 550 Mean: 5CXW-1 100 7.0 2 |[|# 16 » Q982 3SN3 -140 Mean: 3DW-3 300 50 1
v K7 5CXW-1-100 -190  3CW-1 50 60 1 v AT 2SS3 -140 110  3DE-2 200 30 1
» AQJT92 Dif: 650 NS:7 3HW3 140 20 1 ¢ J73 Dif: 0 NS:1  3SS3 140 1.0 1
& J65 IMP: 12 EW:8 3CWw4 130 20 1 » K874 IMP: 0 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 a Q932 5CW5 400 50 1 || 3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 1SN2 -110 Mean: 4HN5 650 7.0 1
v Q874 6SE6 980 -700 A 00 2 v AKT 3NS3 -600 350  4HN4 620 7.0 3
¢ J32 Dif: -500 NS:-7 6SE6 980 7.0 3 » AQ2 Dif: 490 NS:6 3NS3 600 6.0 1
& T65 IMP: -11 EW:-6 6SXE6 41210 110 1 » K6 IMP: 10 EW:6 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3DS3 -110 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 3DW4 130 Mean: 3NW-4 400 120 1
¢ T8 4SN-150 240 4SN4 420 50 3 v 5432 3DW3 110 -240  3NW-1 100 80 1
o A94 Dif: -160 NS:-7 A 00 2 * Q4 Dif: 20 Ns:4 3DW3 110 40 1
& K53 IMP: -4 EW:4 3HXE-1 200 1.0 1 » K92 IMP: 1 EW:-3 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
7 INS: HhiE 2 Z5A=(BFO) -14 8 NS: B35l 22BR3E(BAC) 35 VP:| 0.90 19.10| Total VP: 57.69 Rank:
EW: 853 B EAC) -35 EW: [REZE MEX(F0) 14 IMP:| 2 ¥ 9
# 1 » Q6 1NS1 90 Mean: 3DN4 130 10 1 |[# 12 Py 5SXW-3 500 Mean: 6CXNG6 1540 13.0 1
v 864 3HE-2100 110 2DN4 130 1.0 1 v 76 5CN6 620 730 6DS6 1370 120 1
+ A875 Dif: -10 NS:-1 A 00 2 ¢ T9876 Dif: -120 NS:-6 6CN6 1370 120 1
& AQ98 IMP: 0 EW:0 3HW-2 100 0.0 1 & AKT863 IMP: -3 EW:3 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN4 620 Mean: 4SN4 620 110 3 ||# 14 » 85 2HN3 140 Mean: 2HXN4 670 120 1
v T532 4SN4 620 80  3SN4 170 3.0 1 v AQT42 3HS3140 20  3HS3 140 30 1
. Dif: 0 NS:11 A 00 2 +» KQ973 Dif: 0 NS:3 2HN3 140 30 1
& AT2 IMP: 0 EW:-11 4SN-1 100 5.0 3 a3 IMP: 0 EW:-3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 4HXW4 -590 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SS3 140 Mean: 3DW-3 300 50 1
v K7 3HW3 -140 -190  3CW-1 50 60 1 v AT 3DW-3300 110 3DE-2 200 30 1
» AQJT92 Dif: -450 NS:-9 3HW3 140 20 1 ¢ J73 Dif: -160 NsS:1 3SS3 140 1.0 1
& J65 IMP: -10 EW:-2 3CW4 130 20 1 » K874 IMP: -4 EW:-5 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 » Q932 5CW5 400 50 1 ||a3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 -480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN-1 -100 Mean: 4HN5 650 7.0 1
v Q874 4SE6 -480 -700 A 00 2 v AKT 3NN3 600 350  4HN4 620 7.0 3
¢ J32 Dif: 0 NS:6 6SE6 980 7.0 3 + AQ2 Dif: -700 NS:-10 3NS3 600 6.0 1
& T65 IMP: 0 EW:-6 6SXE6 41210 110 1 » K6 IMP: -12 EW:-6 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | vb6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3HXE-1200 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 1NXE3 -580 Mean: 3NW-4 400 120 1
¢ T8 3SN3 140 240 4SN4 420 50 3 v 5432 3NW-1 100 -240  3NW-1 100 80 1
o A94 Dif: 60 NS:-1 A 00 2 * Q4 Dif: -680 NS:-8 3DW3 110 40 1
& K53 IMP: 2 EW:3 3HXE-1 200 1.0 1 » K92 IMP: -12 EW:-8 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 110 #F< 3 >2RpHEEF IR E ==> RS 8
AVA
#1: 3 BER(107.35) #2: 6 251 4-45(99. 72) #3: 9 LLI7E{&(97.86)
8 INS: ¥FaZ Z58H 2 (BAC) 35 7 NS: #iEZE 23, (F0) 14 19.10 : 0.90 Total VP: 79.82 Rank:
EW: BEE #EREH0) 14 EW: @5 SHE(FC) -3 IMP:| 41 : 2 6
# 1 » Q6 1NS1-90 Mean: 3DN4 130 10 1 |[# 12 Py 5SXW-3 -500 Mean: 6CXN6 1540 13.0 1
v 864 3HE-2-100 110  2DN4 130 1.0 1 v 76 5CN6 -620 730  6DS6 1370 120 1
+ A875 Dif: 10 NS:-0 A 00 2 ¢ T9876 Dif: 120 NS:-3 6CN6 1370 120 1
& AQ98 IMP: 0 EW:1  3HW-2 100 0.0 1 a AKT863 IMP: 3 EW:6 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN4 -620 Mean: 4SN4 620 110 3 ||# 14 » 85 2HN3 -140 Mean: 2HXN4 670 120 1
v T532 4SN4 -620 80 3SN4 170 30 1 v AQT42 3HS3 -140 20 3HS3 140 30 1
. Dif: 0 NS:11 A 00 2 +» KQ973 Dif: 0 NS:3 2HN3 140 30 1
& AT2 IMP: 0 EW:-11 4SN-1 100 5.0 3 a3 IMP: 0 EW:-3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 1.0 1 [|eJ v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 4HXW4 590 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SS3 -140 Mean: 3DW-3 300 5.0 1
v K7 3HW3 140 -190  3CW-1 50 60 1 v AT 3DW-3 -300 110  3DE-2 200 30 1
‘ AQJT92 Dif: 450 NS:2 3HW3 140 20 1 ¢ J73 Dif: 160 NS:5 3SS3 140 1.0 1
& J65 IMP: 10 EW:9 3Cw4 130 20 1 » K874 IMP: 4 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 |[|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 & Q932 5CW5 400 50 1 || 3 & QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN-1 100 Mean: 4HN5 650 7.0 1
v Q874 4SE6 480 -700 A 00 2 v AKT 3NN3 -600 350  4HN4 620 7.0 3
¢ J32 Dif: 0 NS:6 6SE6 980 7.0 3 » AQ2 Dif: 700 NS:6 3NS3 600 6.0 1
& T65 IMP: 0 EW:-6 6SXE6 41210 110 1 » K6 IMP: 12 EW:10 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3HXE-1-200 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 1NXE3 580 Mean: 3NW-4 400 120 1
¢ T8 3SN3 -140 240  4SN4 420 50 3 v 5432 3NW-1-100 -240  3NW-1 100 80 1
o A94 Dif: -60 NS:-3 A 00 2 ¢ Q4 Dif: 680 NS:8 3DW3 110 40 1
& K53 IMP: -2 EW:1  3HXE-1 200 1.0 1 » K92 IMP: 12 EW:8 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4




¥ l\ ——
8 1102 F 2§ >RpERFIR e ==> RS 8
AVA
#1: 3 BER(107.35) #2: 6 251 4-45(99. 72) #3: 9 LLI7E{&(97.86)
9 INS: BEAERS B &EGHO) 14 1 0 NS: EAtH AL ?ﬁf‘i(EHC) -30 17.51 2.49 Total VP: 97.86 Rank:
EW: FENER MYESEERC) 30 EW: RiE5% #&i0iE(FO0) 1 IMP:| 54 26 3
# 1 » Q6 1NS1 90 Mean: 3DN4 130 10 1 |[# 12 Py 6CXN6 1540 Mean: 6CXN6 1540 13.0 1
v 864 3HW-2 100 110 2DN4 130 1.0 1 v 76 5SXW-3 500 730 6DS6 1370 120 1
+ A875 Dif: -10 NS:-1 A 00 2 ¢ T9876 Dif: 1040 NS:13 6CN6 1370 120 1
& AQ98 IMP: 0 EW:0 3HW-2 100 0.0 1 & AKT863 IMP: 14 EW:6 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SXN-2 -500 Mean: 4SN4 620 110 3 ||# 14 » 85 2CE3 -110 Mean: 2HXN4 670 120 1
v T532 4SN-1-100 80  3SN4 170 3.0 1 v AQT42 3CE-150 20  3HS3 140 30 1
. Dif: -400 NS:-11 A 00 2 +» KQ973 Dif: -160 NS:-4 2HN3 140 30 1
& AT2 IMP: -9 EW:5 4SN-1 100 5.0 3 a3 IMP: -4 EW:-1 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 1.0 1 [|eJ v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 3CW4 -130 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 3SS3 140 Mean: 3DW-3 300 50 1
v K7 5CXW-1100 -190 3CW-1 50 60 1 v AT 3DW3 -110 110  3DE-2 200 30 1
» AQJT92 Dif: -230 NS:2 3HW3 140 20 1 ¢ J73 Dif: 250 NS:1  3SS3 140 1.0 1
& J65 IMP: -6 EW:-7 3CW4 130 20 1 » K874 IMP: 6 EW:6 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 |[|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 & Q932 5CW5 400 50 1 || 3 & QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 -480 Mean: 4SE6 480 6.0 6 ||# 18 a KJ754 4HN4 620 Mean: 4HN5 650 7.0 1
v Q874 6SE6 -980 -700 A 00 2 v AKT 4HN-1-100 350  4HN4 620 7.0 3
¢ J32 Dif: 500 NS:6 6SE6 980 7.0 3 » AQ2 Dif: 720 NS:7  3NS3 600 6.0 1
& T65 IMP: 11 EW:7 6SXE6 41210 110 1 » K6 IMP: 12 EW:10 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3SN4 170 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 1NE2 -120 Mean: 3NW-4 400 120 1
¢ T8 4SN5450 240 4SN4 420 50 3 v 5432 3NE4 -630 -240  3NW-1 100 80 1
o A94 Dif: -280 NS:-2 A 00 2 ¢ Q4 Dif: 510 NS:3 3DW3 110 40 1
& K53 IMP: -7 EW:-5 3HXE-1 200 1.0 1 » K92 IMP: 11 EW:9 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~1~~ W 44~~4
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#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
1 O INS: BRIEA BZR(EAC) 30 9 NS: B EZE(0) 14 VP:| 2.49 17.51| Total VP: 82.99 Rank:
EW: B35 B (EE0) -14 EW: 3IIEF] EF4(BAC) 30 IMP:| 26 54 4
# 1 » Q6 1NS1-90 Mean: 3DN4 130 10 1 |[# 12 Py 6CXN6 -1540 Mean: 6CXN6 1540 13.0 1
v 864 3HW-2 -100 110  2DN4 130 1.0 1 v 76 5SXW-3 -500 730  6DS6 1370 120 1
+ A875 Dif: 10 NS:-0 A 00 2 ¢ T9876 Dif: 1040 NS:-6 6CN6 1370 120 1
& AQ98 IMP: 0 EW:1  3HW-2 100 0.0 1 & AKT863 IMP: -14 EW:-13 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SXN-2 500 Mean: 4SN4 620 110 3 ||# 14 » 85 2CE3 110 Mean: 2HXN4 670 120 1
v T532 4SN-1100 80  3SN4 170 3.0 1 v AQT42 3CE-1-50 20  3HS3 140 30 1
. Dif: 400 NS:-5 A 00 2 +» KQ973 Dif: 160 NS:1  2HN3 140 30 1
& AT2 IMP: 9 EW:11 4SN-1 100 5.0 3 a3 IMP: 4 EW:4 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||e QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
a8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 3CW4 130 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 3SS3 -140 Mean: 3DW-3 300 50 1
v K7 5CXW-1-100 -190  3CW-1 50 60 1 v AT 3DW3 110 110  3DE-2 200 30 1
» AQJT92 Dif: 230 NS:7 3HW3 140 20 1 ¢ J73 Dif: -250 NS:-6 3SS3 140 1.0 1
& J65 IMP: 6 EW:-2 3CW4 130 20 1 » K874 IMP: -6 EW:-1 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 & Q932 5CW5 400 50 1 || 3 & QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN4 -620 Mean: 4HN5 650 7.0 1
v Q874 6SE6 980 -700 A 00 2 v AKT 4HN-1100 350  4HN4 620 7.0 3
¢ J32 Dif: -500 NS:-7 6SE6 980 7.0 3 » AQ2 Dif: -720 NS:-10 3NS3 600 6.0 1
& T65 IMP: -11 EW:-6 6SXE6 41210 110 1 » K6 IMP: -12 EW:-7 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | v 6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 3SN4 -170 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 INE2 120 Mean: 3NW-4 400 120 1
¢ T8 4SN5 -450 240  4SN4 420 50 3 v 5432 3NE4 630 -240 3NW-1 100 80 1
o A94 Dif: 280 NS:5 A 00 2 ¢ Q4 Dif: -510 NS:-9 3DW3 110 40 1
& K53 IMP: 7 EW:2 3HXE-1 200 1.0 1 » K92 IMP: -11 EW:-3 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 4.0 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
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#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
1 1 INS: (BHO0) 0 12 NS: (FAC) 0 VP:| 0.00 0.00 | Total VP: 0.00 Rank:
EW: (%C)0 EW: (%0) 0 IMP:) 0 : 0 1
# 11 s Q6 A Mean: 3DN4 130 1.0 1 ||# 12 Py A Mean: 6CXN6 1540 13.0 1
v 864 A 110 2DN4 130 1.0 1 v 76 A 730 6DS6 1370 120 1
+ A875 Dif: 0 NS:0 A 00 2 o T9876 Dif: 0 NS:0 6CN6 1370 120 1
& AQ98 IMP: 0 EW:0 3HW-2 100 00 1 » AKT863 IMP: 0 EW:0 A 00 2
» 83 # T9542 3HE-2 100 00 1 ||a AQT87654 » J93 5CN6 620 30 2
v KQ72 v AT93 2NN2 120 00 1 ||eKT5 | v J432 5SXW-3 500 6.0 4
* T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1  -200 -14.0 1
» KJ74 » 62 1NN2 120 00 1 ||a92 s Q5
%oV AN 4AKIT 1NS1 90 1.0 2 ROV AN o K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 & AKJ983 A Mean: 4SN4 620 110 3 ||# 14 a 85 A Mean: 2HXN4 670 120 1
v T532 A 80  3SN4 170 30 1 v AQT42 A 20 3HS3 140 30 1
. Dif: 0 NS:0 A 00 2 + KQ973 Dif: 0 NS:0 2HN3 140 30 1
& AT2 IMP: 0 EW:0 4SN-1 100 50 3 a3 IMP: 0 EW:0 3CE- 50 10 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 110 1 [|eJ v K753 4HXN-1 100 3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
VAN o Q5 * VBN 4 AKIO 1NE1 90 30 1
N 1~~32 eKJ N ~22~~ 998 2CE3 410 40 1
S ~ ~~ 32 ¢Kr7432 S ~12~~ 486 4HXN-2 300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1-~
# 15 s AJ A Mean: 5CXW-1 100 7.0 2 ||# 16 » Q82 A Mean: 3DW-3 300 50 1
v K7 A -190  3CW-1 50 60 1 v AT A 110  3DE-2 200 30 1
+ AQJT92 Dif: 0 NS:0 3HW3 140 20 1 ¢ J73 Dif: 0 NS:0 3SS3 140 10 1
& J65 IMP: 0 EW:0 3CWa4 130 20 1 & K874 IMP: 0 EW:0 3SN3 140 10 1
» Q3 a T962 4CW5 450 1.0 1 ||a AT3 A J4 2583 140 10 3
v Q98432 v A5 A 0.0 2 ||v Q9532 — v 74 2SN3 140 10 1
. * K64 5DXN-1 200 00 1 ||e QT52 + AK96 A 00 2
& AKT84 & Q932 5CW5 400 50 1||a3 & QT965 2SN-1 50 40 1
& ¢V BN o K3754 5CXW5 550 8.0 1 % ¢V BN 4 K65 3DW3 410 6.0 1
N ~4~1~ ¢JT6 4HXW4 590 90 1 ||N 1 ~~21 ¢ KJ86
S ~4~1~ 48753 S 1~~21 ¢84
E 4~3~1 a7 E ~1~~~ aAl2
4~3~1 W ~1~~~
# 17 4 T76 A Mean: 4SE6 480 60 6 |[|# 18 » KJ754 A Mean: 4HN5 650 7.0 1
v Q874 A 700 A 00 2 v AKT A 350  4HN4 620 7.0 3
0 J32 Dif: 0 NS:0 6SE6 980 7.0 3 * AQ2 Dif: 0 NS:0 3NS3 600 60 1
& T65 IMP: 0 EW:0 6SXE6  -1210 -11.0 1 & K6 IMP: 0 EW:0 3NN3 600 60 1
& KQ3 & AJ954 & A86 & QT9 A 00 2
v AT62 v v Q732 | v6 1SN2 10 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
P OVABN 4,82 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W o~ ~~~~
# 19 » KJ987 A Mean: 4SN5 450 50 1 |[|# 20 » AQ83 A Mean: 3NW-4 400 120 1
vT8 A 240  4SN4 420 50 3 v 5432 A 240  3NW-1 100 80 1
o A94 Dif: 0 NS:0 A 00 2 ¢ Q4 Dif: 0 NS:0 3DW3 410 40 1
& K53 IMP: 0 EW:0 3HXE1 200 -1.0 1 a K92 IMP: 0 EW:0 3DW4 130 3.0 1
» AT64 43 3SN4 170 20 2 ||a KJT7 94 1NE2 420 3.0 1
v 76 v KQJ9543 3SN3 140 30 1 ||e K97 + v Q8 2NW4 180 20 1
+ K86 ¢ T73 3DS3 10 40 1 ||e AKE2 ¢ JT75 A 0.0 2
» J864 & Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 8.0 1
¢ VAN ,Q52 eV ABN 40652 1NXE3 580 8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
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#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
1 2 INS: (BHC) 0 11 NS: (F0)0 VP:| 0.00 0.00 | Total VP: 0.00 Rank:
EW: (80)0 EW: (BIC) 0 IMP:) 0 : 0 1
# 11 s Q6 A Mean: 3DN4 130 1.0 1 ||# 12 Py A Mean: 6CXN6 1540 13.0 1
v 864 A 110 2DN4 130 1.0 1 v 76 A 730 6DS6 1370 120 1
+ A875 Dif: 0 NS:-0 A 00 2 o T9876 Dif: 0 NS:-0 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-0 3HW-2 100 00 1 & AKT863 IMP: 0 EW:0 A 00 2
» 83 » T9542 3HE-2 100 00 1 ||a AQT87654 » J93 5CN6 620 30 2
v KQ72 v AT93 2NN2 120 00 1 ||eKT5 | v J432 5SXW-3 500 6.0 4
* T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1  -200 -14.0 1
» KJ74 » 62 1NN2 120 00 1 ||s92 s Q5
%oV AN 4AKIT 1NS1 90 1.0 2 ROV AN o K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 A Mean: 4SN4 620 110 3 ||# 14 a 85 A Mean: 2HXN4 670 120 1
v T532 A 80  3SN4 170 30 1 v AQT42 A 20 3HS3 140 30 1
. Dif: 0 NS:-0 A 00 2 + KQ973 Dif: 0 NS:-0 2HN3 140 30 1
& AT2 IMP: 0 EW:-0 4SN-1 100 50 3 a3 IMP: 0 EW:-0 3CE-1 50 10 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 a 62 A 00 2
v AQ986 v 74 4SXN-2 500 110 1 [|eJ v K753 4HXN-1 100 3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
VAN o Q5 * VBN 4 AKIO 1NE1 90 30 1
N 1~~32 eKJ N ~22~~ ¢98 2CE3 410 40 1
S ~~~32 ¢K7432 S ~12~~ 486 4HXN-2 300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1-~
# 15 s A A Mean: 5CXW-1 100 7.0 2 ||# 16 » Q82 A Mean: 3DW-3 300 50 1
v K7 A -190  3CW-1 50 60 1 v AT A 110  3DE-2 200 30 1
+ AQJT92 Dif: 0 NS:-0 3HW3 140 20 1 ¢ J73 Dif: 0 NS:-0 3SS3 140 10 1
& J65 IMP: 0 EW:-0 3CW4 130 20 1 & K874 IMP: 0 EW:-0 3SN3 140 10 1
» Q3 A T962 4CW5 150 1.0 1 ||a AT3 aJ4 2853 140 10 3
v Q98432 v A5 A 0.0 2 ||v Q9532 — v 74 2SN3 140 10 1
. * K64 5DXN-1 200 0.0 1 ||e QT52 + AK96 A 00 2
& AKT84 & Q932 5CW5 400 50 1 ||a3 & QT965 2SN-1 50 40 1
& ¢V BN o K3754 5CXW5 550 8.0 1 % ¢V BN 4 K65 3DW3 410 6.0 1
N ~4~1~ ¢JT6 4HXW4 590 90 1[N 1 ~~21 ¢ KJ8
S ~4~1~ 48753 S 1~~21 ¢84
E 4~3~1 a7 E ~1~~~ aAl2
4~3~1 W ~1~~~
# 17 4 T76 A Mean: 4SE6 480 60 6 |[|# 18 & KJ754 A Mean: 4HN5 650 7.0 1
v Q874 A 700 A 00 2 v AKT A 350  4HN4 620 7.0 3
0 J32 Dif: 0 NS:-0 6SE6 980 7.0 3 * AQ2 Dif: 0 NS:-0 3NS3 600 60 1
& T65 IMP: 0 EW:-0 6SXE6  -1210 -11.0 1 & K6 IMP: 0 EW:-0 3NN3 600 60 1
& KQ3 & AJ954 & A86 & QT9 A 00 2
v AT62 v v Q732 | v6 1SN2 10 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -10.0 3
& Q82 & AKJ43 & J742 & Q983
P OVABN 4,82 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W o~ ~~~~
# 19 » KJ987 A Mean: 4SN5 450 50 1 |[|# 20 » AQ83 A Mean: 3NW-4 400 120 1
vT8 A 240  4SN4 420 50 3 v 5432 A 240  3NW-1 100 80 1
o A94 Dif: 0 NS:-0 A 00 2 Q4 Dif: 0 NS:-0 3DW3 410 40 1
& K53 IMP: 0 EW:-0 3HXE1 200 -1.0 1 a K92 IMP: 0 EW:-0 3DW4 130 3.0 1
» AT64 a3 3SN4 170 20 2 ||a KJT7 a 94 1NE2 420 3.0 1
v 76 v KQJ9543 3SN3 140 30 1 ||e K97 + v Q8 2NW4 180 20 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 & Q9 4SN-1 50 7.0 1 T3 & AQJ64 3NW3 600 8.0 1
*eVAN 4Q52 eV ABN 40652 INXE3  -580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
~~]~~ W 44~~4




